Big Exam! #4 TR ”

[} You are looking to put two identical satellites into orbit around two planets made of the same substance, except
that planet A has twice the diameter as planet B. The satellites will be close to the surface of each planet, which

we can do because neither planet has atmosphere. How does the speed of satellite B (orbiting planet B in low
orbit) compare to the speed of satellite A? That is:

6 VA= _lVB

" A correct answer with no explanation will earn you an F. Please explain what is going on.

A Along the way, it might be a good idea to explain what is the ratio of the masses of the planets:
‘mp = 3 mgp

B As well as the ratio of the accelerations of the two satellites:
s AA = 1 ap

This is a complicated problem. So please step back and consider how to look at this and what you know and don’t
know yet. You will be graded on your process. Start with a good picture and a lens/lenses.
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1) YougoonaR=10m,loop-de-loop ride at the carnival, but you have to choose how \ )Z{’ —

high to start the cart. Say you have a mass of 70 kg, like your instructor and you are \‘ R~ ,

sitting on a scale that reads in kg. Don’t use this drawing. .. please make your own. If \ b

you start from a vertical height of 40 m, ) e
a) what does the scale under you read as you are at the top of the loop? S—r

b) What does it read at the bottom of the loop?
¢) Is this a good ride for pregnant women?
d) How does it feel as you round the bottom of the loop?
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